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1. (d) Alphabets 

Alphabetical
order

D R A F T I N G

A D F G I N R T

2. (c) 49 × 7 – 6 ÷ 8 + 13 = x

After interchanging the sign

 49 ÷ 7 + 6 × 8 – 13

 7 + 6 × 8 – 13

 7 + 48 – 13

 55 – 13

 45

3. (a) M  P  Q  O

K  N  S  Q

–2 –2 +2 +2

And,

D  G  H  F

B  E  J  H

–2 –2 +2 +2

Similarly,

E  I   N  W

C  G  P  Y

–2 –2 +2 +2

4. (b)
C  Y  C  L  E

3  25 3 12 5

24 2 24 15 22
X  B  X  O  V

(Opp.)

And,

F  I  N  A  L
6  9 14 1  12 

21 18 13 26 15 
U  R  M  Z  O

(Opp.)

Similarly,

M  U  S  I  C
13 2119 9 13

14  6  8  18 24 
N  F  H  R  X

(Opp.)

5. (b)

6. (d) P A N T H E R 

A N O T H E R 

0 1 4 6 2 8 3

2 8 6 4 1 0 9

7. (c) Larva is a developmental

stage that eventually

transforms into an Insect

Similarly,

Fawn is a developmental

stage that eventually

transforms into a Deer.

8. (c) The number of students who

like Hindi and Science both,

but Not maths = 4

9. (d) (11, 1, 10)

 (11 × 1) – 1

 11 – 1 = 10

(13, 7, 90)

 (13 × 7) – 1

 91 – 1 = 90

Similarly,

(4, 5, 19)

 (4 × 5) – 1

 20 – 1 = 19

10. (a)

11. (c) 56 – 31 – 205

 (56 × 2) + (31 × 3)

 112 + 93 = 205

88 – 23 – 245

 (88 × 2) + (23 × 3)

 176 + 69 = 245

22 – 13 – 85

 (22 × 2) + (13 × 3 )

 44 + 39 = 83  85

18 – 12 – 72

 (18 × 2) + (12 × 3)

 36 + 36 = 72

12. (c)

13. (c) 4 – 5 – 41

 (4)2 + (5)2

 16 + 25 = 41

2 – 3 – 13

 (2)2 + (3)2

 4 + 9 = 13

Similarly,

5 – 6 – 61

 (5)2 + (6)2

 25 + 36 = 61

14. (c) IJI / IJI/ IJI/ IJI

15. (a)

16. (d)

17. (d)

18. (c)

+12 +13 +14 +15 

58  70  83   97  112

19. (b) H D L B

L

P

T

X

B

Z

X

V

P

T

X

B

Z

X

V

T

+4

+4

+4

+4

–2

–2

–2

–2

+4

+4

+4

+4

–2

–2

–2

–2

`

20. (d)

Trousers
Jackets

PantsShirts

21. (d) ‘–’
‘+’

‘ ’
‘ ’

Female
Male

Married cauple

Siblings
Difference of a
generation 

=
=

=
=

‘ ’

H–

I– J+

K
–

L

22. (c) 11 : 62
 11 + 51 = 62

13 : 64

 13 + 51 = 64
Similarly,

16 : 67

16 + 51 = 67

23. (a) 69 + 2485 × 5 – 912 ÷ 2 = x

After interchanging the sign
 69 – 2485 ÷ 5 + 912 × 2
 69 – 497 + 912 × 2

 69 + 1824 – 497
 1893 – 497
 1396

24. (a) M  O    P

+2 +1

(Odd) N   P    R

+2 +2

H   J    L

+2 +2

T   V    X

+2 +2

,

,

25. (c)
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B-GENERAL AWARENESS
26. (d)Chandragupta Maurya, after

abdicating his throne,
became a Jain ascetic under
the guidance of his guru
Bhadrabahu and moved to
Shravanabelagola in
present-day Karnataka.
He died there by fasting to
death, a Jain practice called
Sallekhana or voluntary
death by starvation.

paæxqIr ekS;Z us viuk flagklu R;kxus
ds ckn] vius xq# Hkæckgq ds ekxZn'kZu
esa ,d tSu riLoh cu x, vkSj orZeku
dukZVd ds Jo.kcsyxksyk pys x,A
mUgksaus ogk¡ lYys•uk ;k laFkkjk uked
tSu çFkk ds vuqlkj] miokl }kjk çk.k
R;kx fn,A

27. (a) The Pala rulers, who ruled
Bengal and Bihar from the
8th to 12th centuries CE,
were devout followers and
patrons of Mahayana
Buddhism. The dynesty  was
founded by gopala around
750 CE.
They supported Buddhist
institutions such as Nalanda
University and Vikramashila
University, promoting
Buddhist teachings and
culture.

iky 'kkld] ftUgksaus 8oha ls 12oha
'krkCnh bZLoh rd caxky vkSj fcgkj ij
'kklu fd;k] egk;ku ckS¼ /eZ ds dêðj
vuq;k;h vkSj laj{kd FksA xksiky us iky
oa'k dh LFkkiuk 750 bZ es fd;kA
mUgks aus ukyank fo'ofo|ky; vkSj
foØef'kyk fo'ofo|ky; tSls ckS¼
laLFkkuksa dk leFkZu fd;k] ckS¼ f'k{kkvksa
vkSj laLÑfr dks c<+kok fn;kA

28. (b) In 1717, Mughal Emperor
Farrukh Siyar issued a
farman granting the British
East India Company the
right to trade freely in the
provinces of Bengal, Bihar,
and Orissa, against an
annual payment of 3,000
rupees.

• This farman allowed the
Company to issue dastaks

for movement of goods which
were misused by company
officials for private gain,
significantly increasing their
influence in India.

1717 esa] eqxy lezkV iQ#Z[kfl;j us
,d iQjeku tkjh fd;k] ftlesa fczfV'k
bZLV bafM;k daiuh dks 3]000 #i;s ds
okf"kZd Hkqxrku ds cnys esa caxky] fcgkj
vkSj vksfM'kk çkarksa esa Lora=k :i ls
O;kikj djus dk vf/dkj fn;k x;kA
;g iQjeku daiuh dks eky dh
vkoktkgh ds fy, **nLrd** tkjh djus
dh vuqefr nsrk Fkk] ftldk daiuh ds
vf/dkfj;ksa }kjk futh ykHk ds fy,
nq#i;ksx fd;k x;k] ftlls Hkkjr esa
mudk çHkko dkiQh c<+ x;kA

29. (c) Khudiram Bose was arrested
for attempting to assassinate
the British magistrate
Douglas Kingsford in
Muzaffarpur, Bihar.
He was executed by hanging
on August 11, 1908, at
Muzaffarpur Central Jail,
which was later renamed
Khudiram Bose Memorial
Central Jail in his honor.
Khudiram was only 18 years
old at the time of his
execution and became one of
the youngest martyrs of the
Indian freedom struggle.

•qnhjke cksl dks eqtÝiQjiqj] fcgkj esa
fczfV'k eftLVªsV Mxyl fdaXliQksMZ dh
gR;k ds ç;kl ds vkjksi esa fxjÝrkj
fd;k x;k FkkA
mUgsa 11 vxLr] 1908 dks eqtÝiQjiqj
lsaVªy tsy esa iQk¡lh ns nh xbZ Fkh]
ftldk uke ckn esa muds lEeku esa
•qnhjke cksl eseksfj;y lsaVªy tsy j•k
x;kA
iQk¡lh ds le; •qnhjke dsoy 18 o"kZ
ds Fks vkSj os Hkkjrh; Lora=krk laxzke
ds lcls de mez ds 'kghnksa esa ls ,d
cu x,A

30. (d)According to Hubble's law,
galaxies are moving away
from each other, indicating
that the universe is
expanding.
The farther a galaxy is from

us, the faster it appears to

be receding, a phenomenon

observed through the

redshift of light emitted by

those galaxies.

gcy ds fu;e ds vuqlkj] vkdk'kxaxk,¡
,d&nwljs ls nwj tk jgh gSa] tks n'kkZrh
gSa fd czãkaM dk foLrkj gks jgk gSA
tks vkdk'kxaxk gels ftruh nwj gS] og
mruh gh rsth ls ihNs gVrh gqbZ çrhr
gksrh gS] ;g ?kVuk mu vkdk'kxaxkvksa
}kjk mRlftZr çdk'k ds **jsMf'kÝV**
ds ekè;e ls ns•h tkrh gSA

31. (d) India accounts for

approximately 2.4% of the

total geographical area of the

world. India is the seventh-

largest country in the world

by area, with a total

geographical area of about

3.28 million square

kilometers.

Hkkjr dk {ks=kiQy fo'o ds dqy
HkkSxksfyd {ks=kiQy dk yxHkx 2-4»
gSA Hkkjr {ks=kiQy ds fglkc ls fo'o
dk lkrok¡ lcls cM+k ns'k gS] ftldk
dqy HkkSxksfyd {ks=kiQy yxHkx 3-28
fefy;u oxZ fdyksehVj gSA

32. (d)The Mumbai High region,

discovered in 1974, is India’s

largest offshore oil field in

the Arabian Sea. It produces

significant amounts of crude

petroleum and natural gas,

crucial for India’s energy

security. This discovery

greatly reduced dependence

on imported oil and

strengthened the country’s

economic and industrial

growth./1974 esa •kstk x;k eqacbZ
gkbZ {ks=k] vjc lkxj esa Hkkjr dk lcls
cM+k virVh; rsy {ks=k gSA ;g egRoiw.kZ
ek=kk esa dPps rsy vkSj çkÑfrd xSl
dk mRiknu djrk gS] tks Hkkjr dh
ÅtkZ lqj{kk ds fy, vR;ar egRoiw.kZ
gSA bl •kst us vk;kfrr rsy ij fuHkZjrk
dks dkiQh de fd;k vkSj ns'k ds vkfFkZd
,oa vkS|ksfxd fodkl dks etcwr fd;kA
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33. (c) Indian Councils Act, 1892
– This Act enlarged
legislative councils and
allowed budget discussions
but gave no provincial
autonomy. Members had
very limited powers and no
real authority.
Charter Act, 1853 – This
Act separated legislative and
executive functions of
Governor-General’s Council.
It improved company rule
but did not start provincial
autonomy in India.
Government of India Act,
1935 – It introduced
provincial autonomy, a
federal structure,
responsible governments in
provinces, and wider
franchise. It was India’s first
concrete step towards self-
rule.
Indian Independence Act,
1947 – This Act partitioned
India and Pakistan, ending
British rule. It granted full
sovereignty but wasn’t
connected to initiating
provincial autonomy earlier.

Hkkjrh; ifj"kn vf/fu;e] 1892 &
bl vf/fu;e us fo/ku ifj"knksa dk
foLrkj fd;k vkSj ctV ij ppkZ dh
vuqefr nh] ysfdu çkarh; Lok;Ùkrk
ugha nhA lnL;ksa ds ikl cgqr lhfer
'kfDr;k¡ Fkha vkSj dksbZ okLrfod vf/
dkj ugha FkkA
pkVZj vf/fu;e] 1853 & bl vf/
fu;e us xouZj&tujy dh ifj"kn ds
fo/k;h vkSj dk;Zdkjh dk;ks± dks vyx
dj fn;kA blus daiuh 'kklu esa lq/kj
fd;k] ysfdu Hkkjr esa çkarh; Lok;Ùkrk
dh 'kq#vkr ugha dhA
Hkkjr ljdkj vf/fu;e] 1935 &
blus çkarh; Lok;Ùkrk] ,d la?kh; <k¡pk]
çkarksa esa mÙkjnk;h ljdkjsa vkSj O;kid
erkf/dkj dh 'kq#vkr dhA ;g Lo'kklu
dh fn'kk esa Hkkjr dk igyk Bksl dne
FkkA
Hkkjrh; Lora=krk vf/fu;e] 1947
& bl vf/fu;e us Hkkjr vkSj ikfdLrku
dk foHkktu fd;k] ftlls fczfV'k 'kklu

lekIr gks x;kA blus iw.kZ laçHkqrk çnku
dh] ysfdu bldk çkarh; Lok;Ùkrk dh
'kq#vkr ls dksbZ laca/ ugha FkkA

34. (b)Justiciable – Justiciable
rights are those enforceable
by courts, like Fundamental
Rights. Directive Principles
are not justiciable and
cannot be demanded as a
legal right.
Non-justiciable – Directive
Principles are non-
justiciable, meaning they
cannot be enforced by
courts. They only serve as
guiding principles for the
state in governance and
policymaking.
Enforceable by law –
Directive Principles are not
enforceable by any law. They
are moral-political
obligations for the state, not
legal rights of citizens.
Binding on courts– Courts
cannot directly enforce
Directive Principles. They
only interpret laws
harmoniously with them,
treating them as guidelines
for achieving socio-economic
justice.

U;k;ksfpr & U;k;ksfpr vf/dkj os
gksrs gSa tks ekSfyd vf/dkjksa dh rjg
U;k;ky;ksa }kjk ykxw fd, tk ldrs gSaA
uhfr funZs'kd fl¼kar U;k;ksfpr ugha
gksrs vkSj bUgsa dkuwuh vf/dkj ds :i
esa ugha ekaxk tk ldrkA
xSj&U;k;ksfpr & uhfr funZs'kd fl¼kar
xSj&U;k;ksfpr gksrs gSa] vFkkZr bUgsa
U;k;ky;ksa }kjk ykxw ugha fd;k tk ldrkA
;s dsoy 'kklu vkSj uhfr&fuekZ.k esa
jkT; ds fy, ekxZn'kZd fl¼karksa ds :i
esa dk;Z djrs gSaA
dkuwu }kjk çorZuh; & uhfr funZs'kd
fl¼kar fdlh Hkh dkuwu }kjk ykxw ugha
fd, tk ldrsA ;s jkT; ds fy,
uSfrd&jktuhfrd nkf;Ro gSa] ukxfjdksa
ds dkuwuh vf/dkj ughaA
U;k;ky;ksa ij ckè;dkjh & U;k;ky;
lh/s uhfr funZs'kd fl¼karksa dks ykxw
ugha dj ldrsA os dsoy dkuwuksa dh
muds lkFk lkeatL;iw.kZ O;k[;k djrs

gSa] mUgsa lkekftd&vkfFkZd U;k; çkIr
djus ds fy, fn'kkfunZs'k ekurs gSa

35. (a) The Soviet Union officially
dissolved on December 26,
1991. George H. W. Bush
was the 41st President of the
United States, serving from
January 20, 1989, to
January 20, 1993, which
was the period when the
USSR dissolved and the Cold

War ended./lksfo;r la?k 26
fnlacj] 1991 dks vkf/dkfjd rkSj ij
Hkax gks x;kA **tkWtZ ,p- MCY;w- cq'k**
la;qDr jkT; vesfjdk ds 41osa jk"Vªifr
Fks] ftUgksaus 20 tuojh] 1989 ls 20
tuojh] 1993 rd lsok dh] tks og
vof/ Fkh tc lksfo;r la?k Hkax gqvk
vkSj 'khr ;q¼ lekIr gqvkA

36. (d)HAL is a state-owned
aerospace and defense
company in India, with the
Government of India holding
a majority stake of around
71.6%. HAL is involved in the
design, development, manu-
facture, repair, and overhaul
of aircraft, helicopters,
engines, avionics, and
related aerospace products.

fganqLrku ,;jksukWfVDl fyfeVsM] Hkkjr
esa ,d jkT;&LokfeRo okyh ,;jksLisl
vkSj j{kk daiuh gS] ftlesa Hkkjr ljdkj
dh yxHkx 71-6» dh cgqer fgLlsnkjh
gSA HAL foekuksa] gsyhdkWIVjksa] batuksa]
,fo;ksfuDl vkSj lacaf/r ,;jksLisl
mRiknksa ds fMtkbu] fodkl] fuekZ.k]
ejEer vkSj vksojgky esa 'kkfey gSA

37. (b)The repo rate is the interest
rate at which RBI lends
money to commercial banks.

• Repo rate decreases,
borrowing becomes cheaper
for banks leading to increase
in money supply and also
when repo rate is increased
money supply goes down.

jsiks nj og C;kt nj gS ftl ij **Hkkjrh;
fjtoZ cSad (RBI)** okf.kfT;d cSadksa
dks iSlk m/kj nsrk gSA jsiks nj ?kVus ij
cSadksa ds fy, m/kj ysuk lLrk gks tkrk
gS ftlls eqæk vkiwfrZ esa o`f¼ gksrh gS
vkSj tc jsiks nj c<+ tkrh gS rks eqæk
vkiwfrZ de gks tkrh gSA
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38. (c) Density is defined as mass
per unit volume, and its SI
unit is kilogram per cubic
metre (kg/m³). It expresses
how much mass is contained

in a given volume./?kuRo dks
çfr bdkbZ vk;ru æO;eku ds :i esa
ifjHkkf"kr fd;k x;k gS] vkSj bldh**
SI bdkbZ** fdyksxzke çfr ?ku ehVj
(kg/m³) gSA ;g crkrk gS fd fdlh
fn, x, vk;ru esa fdruk æO;eku
lekfgr gSA

39. (b)Galileo Galilei - Wave theory
of light is incorrect among
the options. Galileo made
early observations related to
the speed of light but did not
propose the wave theory. The
wave theory of light was
developed later by Christian
Huygens.

• Einstein explained the
photoelectric effect using
quantum theory, for which
he won the Nobel Prize in
Physics in 1921.

• Hertz experimentally
confirmed the existence of
electromagnetic waves
predicted by Maxwell.

• Faraday discovered
electromagnetic induction,
laying the foundation for
electric transformers and
generators.

xSyhfy;ks xSyhyh & çdk'k dk rjax
fl¼kar fodYiksa esa ls xyr gSA xSyhfy;ks
us çdk'k dh xfr ls lacaf/r 'kq#vkrh
voyksdu fd, Fks] ysfdu mUgksaus rjax
fl¼kar dk çLrko ugha fn;k FkkA çdk'k
dk rjax fl¼kar ckn esa **fØfLV;ku
áwtsal** }kjk fodflr fd;k x;k FkkA
vkbaLVhu us **çdk'k fo|qr çHkko** dks
DokaVe fl¼kar dk mi;ksx djds
le>k;k] ftlds fy, mUgsa 1921 esa
HkkSfrdh dk ukscsy iqjLdkj feykA
gV~tZ us eSDlosy }kjk Hkfo";ok.kh dh
xbZ **fo|qr pqEcdh; rjaxksa** ds vfLrRo
dh çk;ksfxd :i ls iqf"V dhA
iQSjkMs us **fo|qr pqEcdh; çsj.k** dh
•kst dh] ftlls bysfDVªd VªkaliQkWeZj
vkSj tujsVj dh uhao j•h xbZA

40. (a) Plasma is a form of matter
in which many of the
electrons wander freely
among the atoms, meaning
the electrons are not bound
to any specific atom but
move independently.
Plasma is commonly found
in stars, lightning, flames,
and neon signs, and it can
conduct electricity and
respond to magnetic fields.

**IykTek** inkFkZ dk ,d :i gS ftlesa
dbZ bysDVªkWu ijek.kqvksa ds chp Lora=k
:i ls ?kwers gSa] ftldk vFkZ gS fd
bysDVªkWu fdlh fof'k"V ijek.kq ls caèks
ugha gksrs gSa cfYd Lora=k :i ls pyrs
gSaA
IykTek vkerkSj ij rkjksa] fctyh] vkx
dh yiVksa vkSj fu;kWu fpÉksa esa ik;k
tkrk gS] vkSj ;g fctyh dk lapkyu
dj ldrk gS vkSj pqacdh; {ks=kksa ij
çfrfØ;k dj ldrk gSA

41. (d)Annelida includes animals
with a segmented body, like
earthworms and leeches.

• Arthropoda also has
segmentation, but with
exoskeletons and jointed
appendages.

• Chordata includes
vertebrates, which do not
have segmented bodies in
the same way.

• Mollusca (e.g., snails,
octopuses) do not have
segmented bodies.

**,usfyMk** esa •afMr 'kjhj okys tkuoj
'kkfey gSa] tSls dsapq, vkSj tksadA
**vkFkzkZsiksMk** esa Hkh •aMu gksrk gS]
ysfdu ckgjh dadky vkSj tqM+s gq,
mikaxksa ds lkFkA
**dksMZsVk** esa d'ks#d 'kkfey gSa] ftudk
'kjhj mlh rjg ls •afMr ugha gksrk gSA
**eksyLdk** (tSls] ?kksa?ks] vkWDVksil)
ds 'kjhj •afMr ugha gksrs gSaA

42. (a) Masses of bacterial cells
together with food particles
stick to the teeth. Dental
plaque is a soft, sticky film
that builds up on teeth. It
forms when bacteria in the
mouth combine with food
particles (especially sugars

and starches). These
bacterial masses stick to the
surface of the teeth, forming
plaque. Over time, this
plaque can lead to tooth
decay and gum disease if not

cleaned regularly./thok. k q
dksf'kdkvksa ds lewg Hkkstu ds d.kksa
ds lkFk feydj nkarksa ls fpid tkrs
gSaA **MsaVy Iykd** ,d uje] fpifpih
ijr gksrh gS tks nkarksa ij curh gSA ;g
rc curk gS tc eqag esa cSDVhfj;k
Hkkstu ds d.kksa (fo'ks"k :i ls 'kdZjk
vkSj LVkpZ) ds lkFk fey tkrs gSaA ;s
thok.kq lewg nkarksa dh lrg ls fpid
tkrs gSa] ftlls Iykd curk gSA le;
ds lkFk] ;fn bls fu;fer :i ls lkiQ
ugha fd;k tkrk gS rks ;g Iykd nkarksa
dh lM+u vkSj elwM+ksa dh chekjh dk
dkj.k cu ldrk gSA

43. (b)The Brihadeeswara Temple
in Thanjavur, Tamil Nadu, is
a UNESCO World Heritage
Site built by Raja Raja - I in
the 11th century. It is a
masterpiece of Dravidian
architecture.

**c`gns'oj eafnj**] ratkoqj] rfeyukMq
esa ,d ;wusLdks fo'o /jksgj LFky gS]
ftls 11oha 'krkCnh esa **jktjkt-I**
}kjk cuok;k x;k FkkA ;g **æfoM+
LFkkiR; dyk** dh ,d mRÑ"V Ñfr
gSA

44. (c) The Kutch Bustard
Sanctuary or Kachchh Great
Indian Bustard Sanctuary,
located near Jakhau village
in the Kutch district of
Gujarat, is dedicated to the
conservation of the critically
endangered Great Indian
Bustard specifically
established to protect the
breeding grounds and
habitat of the Great Indian
Bustard, one of the heaviest
flying birds.

**dPN cLVMZ vHk;kj.;**] ;k dPN
xzsV bafM;u cLVMZ vHk;kj.;] xqtjkr
ds dPN ftys esa t•kÅ xk¡o ds ikl
fLFkr gS] tks fo'ks"k :i ls xaHkhj :i
ls yqIrçk; **xzsV bafM;u cLVMZ** ds
laj{k.k ds fy, lefiZr gS] tks lcls
Hkkjh mM+us okys if{k;ksa esa ls ,d gSA
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45. (b)Jawaharlal Nehru called
these projects “Temples of
Modern India” for their role
in economic development
post-independence.

**tokgjyky usg:** us bu ifj;kstukvksa
dks Lora=krk ds ckn vkfFkZd fodkl esa
mudh Hkwfedk ds fy, ¶vk/qfud Hkkjr
ds eafnj¸ dgk FkkA

46. (b)Sattriya is a major Indian
classical dance form that
was developed in the 15th
century by the saint and
social reformer Srimanta
Sankardeva. He used this
dance as a medium to
propagate the Vaishnava
faith, and it has been
performed and preserved in
the Assamese sattras for
centuries. It was recognized
as a classical dance form by
the Sangeet Natak Akademi
in 2000.

**lfÙj;k** ,d çeq• Hkkjrh; 'kkL=kh;
u`R; 'kSyh gS ftls 15oha 'krkCnh esa lar
vkSj lekt lq/kjd **Jhear 'kadjnso**
}kjk fodflr fd;k x;k FkkA mUgksaus
bl u`R; dk mi;ksx oS".ko /eZ ds
çpkj ds ekè;e ds :i esa fd;k] vkSj
bls lfn;ksa ls vlfe;k **lÙjksa** esa
çnf'kZr vkSj lajf{kr fd;k x;k gSA bls
2000 esa **laxhr ukVd vdkneh** }kjk
,d 'kkL=kh; u`R; 'kSyh ds :i esa
ekU;rk nh xbZ FkhA

47. (a) Prime Minister Narendra
Modi inaugurated the
SEMICON India 2025
summit to promote the
semiconductor industry in
India. The summit is part of
the India Semiconductor
Mission, a government
initiative aimed at attracting
investments and building a
semiconductor ecosystem in
the country.

ç/kuea=kh ujs aæ eksnh us Hkkjr es a
**lsehdaMDVj m|ksx** dks c<+kok nsus
ds fy, **lsehdkWu bafM;k 2025** f'k•j
lEesyu dk mn~?kkVu fd;kA ;g f'k•j
lEesyu **bafM;k lsehdaMDVj fe'ku**
dk fgLlk gS] tks ns'k esa fuos'k vkdf"kZr

djus vkSj ,d lsehdaMDVj ikfjfLFkfrdh
ra=k ds fuekZ.k ds mís'; ls ,d ljdkjh
igy gSA

48. (a) The new slab rates for GST
in India, effective from 22nd
September 2025, are
primarily simplified into two
main slabs: 5% and 18%
The GST Council has
abolished the 12% and 28%
slabs.
A new slab of 40% has been
introduced for luxury and
sin goods, but the common
slabs are 5% and 18%.

Hkkjr esa **th,lVh** ds fy, ubZ LySc
njsa] 22 flracj 2025 ls çHkkoh] eq[;
:i ls nks eq[; LyScksa esa ljy dh xbZ
gSa% **5» vkSj 18»**A
th,lVh ifj"kn us **12» vkSj 28»**
ds LySc dks lekIr dj fn;k gSA
foykflrk vkSj iki oLrqvksa ds fy,
**40»** dk ,d u;k LySc is'k fd;k
x;k gS] ysfdu lkekU; LySc 5» vkSj
18» gSaA

49. (a) India won the Asia Cup 2025
by defeating South Korea 4-
1 in the final at the Rajgir
Sports Complex in Bihar
after 8 years.
With this win, India also
qualified for the FIH Hockey
World Cup 2026 in the
Netherlands and Belgium.

Hkkjr us 8 lky ckn fcgkj ds jktxhj
LiksV~lZ dkWEIysDl esa iQkbuy esa **nf{k.k
dksfj;k** dks 4&1 ls gjkdj **,f'k;k
di 2025** thrkA
bl thr ds lkFk] Hkkjr us **uhnjySaM
vkSj csfYt;e** esa gksus okys **,iQvkbZ,p
gkWdh fo'o di 2026** ds fy, Hkh
DokyhiQkbZ dj fy;kA

50. (d)Rishab Sharma, a talented

Sitar maestro and student of

Pandit Ravi Shankar, is

gaining fame for his

exceptional musical

compositions. His notable

works include “Chanakya”

and “Shiv Kaliasho ke Vasi”,

showcasing mastery over

classical Indian music while

blending innovative styles for

modern audiences.

çfrHkk'kkyh flrkj oknd vkSj iafMr
jfo'kadj ds f'k"; ½"kHk 'kekZ viuh
vlk/kj.k laxhr jpukvksa ds fy, çflf¼
çkIr dj jgs gSaA mudh mYys•uh;
Ñfr;ksa esa "pk.kD;" vkSj "f'ko dfy;k'kks
ds oklh" 'kkfey gSa] tks 'kkL=kh; Hkkjrh;
laxhr ij mudh egkjr dks çnf'kZr
djrs gq, vk/qfud Jksrkvksa ds fy,
uohu 'kSfy;ksa dk lfEeJ.k djrh gSaA

C - QUANTITATIVE APTITUDE

51. (c) tanA =
3

7
 Or, cotA = 

7

3

 CosecA = 21+cot A

Or, cosecA = 
49

1
9



cosecA =
58

9

cosecA =
58

3

52. (a) Let, speed of man = S m/s

 Speed of train = 8S m/s

ATQ,

 
1800

8S S = 10

Or, 
1800

90
= S

Or, S = 20

 Speed of train = 20 × 8 ×
18

5

km/hr

= 576 km/hr

53. (d) Distance of chord RS from

centre = 20 cm

Half of length of chord

=
30

2
cm

= 15 cm

 Radius =    
2 2

15 20 cm

= 25

 Diameter = (25 × 2) cm

= 50 cm
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54. (c) Total sales of branches B2,
B4, B6, in year 2001 = 65
+ 95 + 80 = 240

 Average sales =
240

3
= 80

Total sales of branches B1,
B3, B5 in year 2001 = 105
+ 110 + 95 = 310

 Average sales =
310

3

 % of average sales by B
2
, B

4
,

B
6
 to average sales by B

1
, B

3
,

B
5
.

= 
80 3

310


× 100

= 77.41%

55. (b)
   

3 3

2 2

17 – 7

17 7 k 
= 10

Or, 
       2 2

2 2

17–7 17 + 7 + 17×7

17 +7 +k

 
 

Or,
10 (289 + 49 + 119) =
2890+490 + 10k
k = 119

56. (d) 42 –32 + 62 – 52 + 82 – 72

+...........+922 – 912

= 7 + 11 + 15 + 19 + .....
+183
Ist term (a) = 7
Difference (d) = 4
Last term t

n 
= 183

Number of terms = n (say)
We know
Last term t

n 
= a + (n – 1) d

Or, 183 = 7 + (n – 1) 4
Or,
n = 45

 Sum of nth term,

S
n
 = [2a + (n – 1) d]

n

2

[2 × 7 + (45 – 1)4] ×
45

2

= 4275
57. (a) Ratio of share of P and Q +

R = 4 : 7 (4 +7 = 11 × 7)
= 28 : 49
Ratio of share of Q and P +
R = 2 : 5 (2 + 5) = 7 × 11
= 22 : 55

 P : Q : R
= 28 : 22 : 27

 Share of R =
27

77
×43120

= 27 × 560  15120
58. (b) Number of girls in school A

= 200
Number of girls in school F =
100

 % of number of girls in A to
the number of girls in

school F =
200

100
×100 =

200%
59. (a) Ratio of cost price and

marked price = 100 : 120
–12
108

 Profit = 108 – 100 = 8

 Profit % = 
8

100
×100 = 8%

60. (c) Let, the side of the
converted cube = l cm
Volume of big cube = 63 +
83 + 103 = 1728
ATQ, l3 = 1728
Or, l3 = (12)3

l = 12
 Side of converted cube = 12

cm
61. (b) Let, marks obtained by X = a

Marks obtained by Y = b
Sum of marks obtained by
X and Y = a + b.

 Average of marks =
a+b

2

ATQ, 
a+b

2
+ 35 = 

85+b

2

a + b + 70 = 85 + b
a = 15

 Marks obtained by x is 15.
62. (b) The ratio of cost price and

selling price of P and Q
respectively = 100 : 130
The ratio of cost price and
selling price of Q and R
respectively = 130 : 156

 Ratio of cost price of P and
R = 100 : 156
 =  25 : 39

63. (b) Interest earned = 13200 –
12000 = 1200
Simple interest-

SI = 12000×
R

100
×2

R =
1200 100

2400



R = 5
For double interest

SI = 12000×
10

100
×2

SI = 2400
 Amount = 12000 + 2400

= 14400

64. (d)
tanθ – secθ +1

tanθ + secθ –1

If we consider = 45°

= 
1– 2 1

1 2 –1






2 – 2

2
= 2 –1

Now, from options, we will

get  = 
cosθ

1 sinθ

65. (d) A =
18 9 4

15 3 5

 

 


2 4

5 5






8

25

B =
18 36 3 5 1– 6

18 6 20 – 3 4 12

   

   

B = 

3
5 1– 6

2
3 20 – 3 4 12

 

  

B = 

3
5 – 6

2
60 –12 12





B = 

3 10 –12

2
60




1

120

Now,
A + B

= 
8

25
+

1

120
 

 8 24 25

600

 

= 
197

600

66. (c) Ratio of income,

expenditure and savings
= 100 : 50 : 50
           

   110  55    55
 Increased savings = 55 –

50 = 5

 Increased % = 
5

50
×100 =

10%
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67. (a) We know, for two identical

circles intersect each other

such that each passes

through the centre of each

other,

Length of chord = 3 ×

radius

Or, Radius = 16

Radius of each circle 16 cm.

68. (d) A = 10

B = 20

C = 30

60

6

3

2
11

A Earns =
6

11
×1100 = 600

B earns = 
3

11
×1100 = 300

C earns = 
2

11
×1100 = 200

 Earnings of A and C

exceeds from earnings of B

= 600 + 200  – 300 = 500

69. (c) Total number of girls in

school G, H, I = 700 + 1300

+ 800 = 2800

Total number of girls in

school J, K, L, M

= 1100 + 900 + 500 + 400

= 2900

 Difference between them =

2900 – 2800

= 100

70. (d)
cot60 – cot30

1 cot60 cot30

 

  

=

1
– 3

3
1 1

–
1

3

71. (d) ATQ,

100% 4000

1%  40

17%  680

4000 makes angle 360°

680 makes angle

=
360

4000


×680

= 61.2º

72. (a) As the angle subtended by

a chord AB on the

circumference is 90°.

So the chord is the

diameter of the circle.

 Length of diameter = 2 × 8

cm  16 cm

73. (d) We know the centroid

divides median in 2 : 1.

UET

S

15
7.5

16

O
8

F

17 17

ATQ,

For TF

2 + 1 unit 22.5

1 unit 
22.5

3

1 unit  7.5

For SE

2 + 1  24

1 8

 For TOE, 8, 15, 17 forms

triplet

 TOE is right angle

triangle.

SoTOE = 90°

74. (c)  
1

6125 ,  
1

311 ,  
1

612 ,  
1

45

Multiply the power of each

term with LCM of 6, 3, 6,

4.

  
12

6125 ,  
12

311 ,  
12

612 ,  
12

45

 (125)2, (11)2, (12)2 (5)2

 Largest is  
1

6125

75. (b) a +
1

a
= 4

Squaring both sides.

a2 + 2

1

a
 = (d)2 – 2 = 14

Again squaring both sides

a4 + 4

1

a
= (14)2 – 2 = 194

D-ENGLISH COMPREHENSION

76. (d)Lugubrious (mnkl) – means

very sad or gloomy, fits here
as his wife left him.

Mirthful (g¡leq[k) – full of joy,

opposite meaning.

Blithesome (i zl Uu)  –

cheerful, carefree.

Jocund (i zi Q q f Yyr)  –

lighthearted, happy.
77.  (a) “Few” should be changed

to “little” because “focus” is
an uncountable noun and
requires “little” instead of
“few”.

78. (b)Peevish (fpM+fPkM+k) means

easily irritated or
complaining, while Suave

(feyulkj / fouez) means

polite, charming, and
smoothly agreeable.

Tedious (uhjl)  means

boring or monotonous.

Dull (larq"V) means lacking

brightness or excitement.

Flat (uhjl) means without

liveliness or emotion.

79. (c) Gratify (larq"V djuk) means

to please or satisfy someone,

similar to Satisfy (lar q "V
djuk) which means to fulfil

a desire or need.

Insult (vieku djuk) – to

offend or disrespect
someone.

Displease (uk[kq'k djuk) – to

make someone unhappy.

Annoy (ijs'kku djuk) – to

irritate or bother someone.
80. (c) The correct order is RQSP

R – Introduces the subject:
the young shooter.
Q – Main verb and action:
was selected for the Olympic
squad.
S – Reason for selection: due
to his exceptional
performance at the national
trials.
P – Concession: though he
lacked international
experience.
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81. (d)“The weather forecast

mentioned a change in

meterological patterns.”

Correct spelling is

meteorological (relating to

weather and atmosphere).

82. (d) “in the limelight” means

being the center of attention

or publicly noticed.

83. (b)Elegy ('kksdxhr) – a poem

written to express sorrow or

mourning, usually for

someone who has died.

84. (c) Active Voice Structure:

The director (subject) +

should announce (modal

verb + base verb) + the

results (object) + today

(time).

Passive Voice Structure:

The results (object) + should

be announced (modal verb +

be + past participle) + today

(time) + by the director

(agent, optional).

85. (b)The correct preposition with

land + airport is at, not in,

because planes land at a

location, not inside it.

86. (d)Devoid (foghu jfgr)  means

completely lacking

something, and it is always

followed by the preposition

of.

87. (b)The verb “arrive” should be

changed to its past tense

form “arrived.”

Because the main clause,

“the concert had ended,” is

in the past perfect tense,

which is used to describe an

action completed before

another past action.

Structure: By the time + V2

(simple past), subject + had

+ V3 (past perfect).

88. (d)Fecund (mitkÅ) &means

fertile, capable of producing

abundantly, while Barren

(vumitkÅ) means unable to

produce or sterile.

Genial (feyulkj) means

friendly.

Polite (fouez) means well-

mannered.

Rude (vlH;)  means

impolite.

89. (a) Unkempt (vlfTtr vLr &)
means messy and untidy in

appearance.

90. (c) Correct order is PQRS.

P introduces an advantage: It

is available in abundance

Q shows the result: This makes

it a sustainable option

R adds another advantage:

Unlike fossil fuels, it doesn’t

emit harmful gases

S adds another benefit: Also, it

reduces dependency on non-

renewable sources

91. (b)She wrote a beautiful

sentence in her diary.

Sentence (ltk) – in the

original sentence, it means

a legal punishment.

Sentence (okD;) – in the

chosen option, it means a

group of words expressing

a complete thought.

92. (d) “Improvement over” is used

when comparing something

to another for progress or

change.

93. (d)My uncle goes to that shop

most frequently.

Most frequently (vR;f/d ckj

/ lcls vf/d ckj) – correct

superlative form of the

adverb “frequently.”

94. (b)Pompous (?ke aMh) means

having an exaggerated sense

of self-importance, while

Submissive (vkKkdkj h)

ANSWER KEY

1. (d)

2. (c)

3. (a)

4. (b)

5. (b)

6. (d)

7. (c)

8. (c)

9. (d)

10. (a)

11. (c)

12. (c)

13. (c)

14. (c)

15. (a)

16. (d)

17. (d)

18. (c)

19. (b)

20. (d)

21. (d)

22. (c)

23. (a)

24. (a)

25. (c)

26. (d)

27. (a)

28. (b)

29. (c)

30. (d)

31. (d)

32. (d)

33. (c)

34. (b)

35. (a)

36. (d)

37. (b)

38. (c)

39. (b)

40. (a)

41. (d)

42. (a)

43. (b)

44. (c)

45. (b)

46. (b)

47. (a)

48. (a)

49. (a)

50. (d)

51. (c)

52. (a)

53. (d)

54. (c)

55. (b)

56. (d)

57. (a)

58. (b)

59. (a)

60. (c)

61. (b)

62. (b)

63. (b)

64. (d)

65. (d)

66. (c)

67. (a)

68. (d)

69. (c)

70. (d)

71. (d)

72. (a)

73. (d)

74. (c)

75. (b)

76. (d)

77. (a)

78. (b)

79. (c)

80. (c)

81. (d)

82. (d)

83. (b)

84. (c)

85. (b)

86. (d)

87. (b)

88. (d)

89. (a)

90. (c)

91. (b)

92. (d)

93. (d)

94. (b)

95. (c)

96. (c)

97. (d)

98. (a)

99. (d)

100.(d)

means humble or obedient,

the opposite of pompous.

Delight (vkuan) – a feeling of

great pleasure.

Urgency (vR;ko';drk) –

importance requiring swift

action.

95. (c)Active Voice Structure:

The student (subject) + read

(past simple) + the book

(object) + in just two days

(time).

Passive Voice Structure:

The book (object) + was read

(past simple passive) + by the

student (agent) + in just two

days (time).

96. (c)

97. (d)

98. (a)

99. (d)

100.(d)


